+B2128+048

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

01jun12 to 30juni12 all freg

68 pnts. Gain K/Jy

8 ‘ ]
o L FIG 1 ]
: e :
- i I g : -
2| _
07 1 L L L L 1 | B
0 5 10 15 20
za
Tsys
*F | e
C 8500. 8800 9200. MhZ  pbup-#F + 4 i
35— s T ]
30— —
25:— {
200 | | | ]
0 5 10 15 20
za
Sefd
20 ‘ ]
15 —
10 %$$$ : + % % -
- 44 ]
5? ]
07 1 L L L L 1 | ]
0 5 10 15 20
za
AvgBmWidth
45 ‘ ]
40— —
55; + 7
- Loy T -
- S A S S
30— E % $ 1 i - ]
250 | | ‘ ]
0 5 10 15 20

zda



+B2128+048

Gain [K/Jy]

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

O1jun12 to 30jun12 8500 Mhz 17 pnts. Gain K/Jy

87 —
61— FIG 2 _]
B +ﬁfk%7‘+ n ]
- Jr —
N ]
07 | | | L B
0 5 10 15 20
za
Tsys
*F | t ]
L + _
L n + i
35— e ]
30— —
25— —
200 ! ! | ]
0 5 10 15 20
za
Sefd
20 ‘ ]
15 —
wo: N i
— + °* ]
- T+ ]
S -
07 | n n n n | n L L L | L ]
0 5 10 15 20
za
AvgBmWidth
45 ‘ ]
40— —
35 + —]
B fﬁlﬁ + 4 7]
C R ]
30? ]
250 ! ! | ]
0 5 10 15 20

zda



+B2128+048

Gain [K/Jy]

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

O1jun12 to 30jun12 8800 Mhz

17 pnts. Gain K/Jy

87 —
6 FIG 3]
B Tt i
L % 4t i
L on —+ |
L + + L
27 —
07 1 | | B
0 5 10 15 20
za
Tsys
40 ‘ n
35— —
30— —
25— —
20 ‘ ‘ ‘ ]
0 5 10 15 20
za
Sefd
200 ‘ n
15 —
L + i
10— 4+ + |
C #re++ 4 F ]

L T+ _
ST ]
07 1 L L L n | | ]
0 5 10 15 20
za
AvgBmWidth
450 ‘ n
40— —
- n ]
: %i;j + .t
30:— - —:
250 ‘ ‘ ‘ ]
0 5 10 15 20

zda



+B2128+048

Gain [K/Jy]

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

O1jun12 to 30jun12 9000 Mhz 17 pnts. Gain K/Jy

87 —
6 FIG 4 ]
B :frJrJrJr N |
L 4 _
41— -t T+ o+ —
L + _
27 —
07 1 1 | L B
0 5 10 15 20
za
Tsys
40F | e T ]
35— —
30— —
25— —
20 ‘ ‘ ‘ ]
0 5 10 15 20
za

Sefd
20 ‘ ]
15 —
L + ]
- . ]
10— + —
- s+ 7 .
- T+t _
S i
07 1 L L L L 1 n L L L | ]
0 5 10 15 20
za
AvgBmWidth
45 ‘ 7
40— —
35— —
L + |
L iJr%jJr 4+ + i
01 + Ty =
250 ‘ ‘ ‘ ]
0 5 10 15 20

zda



+B2128+048

Gain [K/Jy]

Tsys [K]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

O1jun12 to 30jun12 9200 Mhz 17 pnts. Gain K/Jy

87 —
6 FIG 5 ]
B if++’+’4F N B
4? ++++ + T i ]
L +
27 —
07 1 1 1 ]
0 5 10 15 20

za

Tsys

40 ‘ F ]
- i .
35? ]
30— —
25— —
200 | | | ]
0 5 10 15 20

za

Sefd

20[C ‘ ]
15 —
C t ]
- Jr + —
o e T -
C T+ + ]
5 =
07 1 L L L L 1 L n n n 1 ]
0 5 10 15 20

za

AvgBmWidth

45 ‘ ]
40— —
35— —
B fﬁ n +
30— + + + —
- R ,
250 | | | ]
0 5 10 15 20

zda



